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1. Ammonium nitrite was heated as shown below.
Apparatus L

Aluminium nitrate

Faii

GasR

VzzA
=

1
] III|IIIII

(i) Give a suitable material that can be used to make apparatus L, explain
your answer. (2 marks)

qusx/qfqﬂ ...... hat hish moph boate, Co
N:ﬂl&f—k‘(« (’{““"b_j’ L\M’Avj% C] qL< r}

...............................................................................................................................

et 7 cnect . absenvachos

(ii)  Write a chemical equation for formation of gas R. mark)
Nﬁs,c/\(ozﬂ(s;”& N2 0.7 200 ﬂ

2. Dilute hydrochloric acid and sodium sulphite were reacted as shown below.

Dilute hydrochloric acid

___— Delivery tube

Gas jar
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(i) Write a chemical equation for the reaction taking place in the flask. (1 mark) /

Nt 0o, 4 Ry, m=2. ANa ey 72200 . e 200,

(i)  State one main laboratory rule that should be observed during the above
experiment and give a reason for your choice. (2 marks)

(iii)  Give two reasons why no gas was collected in gas jar. (2 marks)

—_ﬂ\fdkﬁ}w14w“0éy/7/u(/’“bf5ﬁuﬂﬁﬂ—

........................................................................................................

-------------------------------------------------------------------------------------------------------------------------------------------

3. In an experiment 3.36g of iron filling were added to excess copper (11) sulphate solution.
Calculate the mass of copper that was deposited given that Iron (II) sulphate and copper

were the products.
(Cu=63.5,Fe=56.0) \/( (3 marks)

) 2t Cuo

4, In a titration experiment 30cm3 of 2M sodium hydroxide required 30cm? of sulphuric
(VI) acid for complete neutralization. Determine the concentration of sulphuric (VI) acid

in grams per litre. (3 marks) =

2 c‘fiﬁlflm)—f' H1504@7)—’> Nﬁzsoéf(éq) + 2%,

Moles quO/f = 30x272 .o K
/00D
Ma/u ? HDS(]#,: O-Db 0.02./46
2 o
Mﬂ‘w?/?, 2 #p—COV — O-0IX /00O _ | M.
Conwntelioo o 7[(, - ) X949 = ﬁgj/{/. '

Page

-

NS

CHEMISTRY P1 @ MOKASA 2021

Scanne d with CamScanner




5. Study the diagram below and answer the questions that follow.

®

(if)

(iii)

(b)

(b)

Cathode
Anode
Molten Copper () lodide

State t,he observation made at the cathode. (1 mark)
niBrmn beads / ............. [ AT

Write the equation takmg place at the Anode. / (1 mark)
:"QI(.U ... — 2.@+26 ...........................................................

ed to make the cathode? (1 mark)

(1 mark)

% ..... '“O/Za,/%w ...... Suter JEn ke
........ :,é waﬂwaé%m 9

.........................................................................................

(1 mark)

---------------------------------------------------------------------------------------------------------------------------------

State the group and period o’f/eyment P. (1 mark)
L

------
....................................................................................................................................
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(c)  Write thc uation ofelement P when burnt in ajr.
l5). ‘71' AW -"‘? p } (9).. //
&g 2«@) 02.(.5} ""92?0@ ...........................................

8. Study the diagram below and answer the question that follow.
Carbon powder Copper ||
(excess) oxide
/ Blue flame
7
Limited .
oxygeﬁ__b 7
TT A :
Heat
e and explain observation made (2 ma‘}s)
?&2 ................. /5*" de/cw /m/&; .......... av ..... “f’/XW . . Ravinic.
(b) in the observatxon made out point B. % (2 marks)
......... el ol remans. blacke D - Abga® o
(
tost. proves el cedactiz 9 Cul. L. C s,
() Why a,s it necessary to burn the gas at the jet? (1 mark)
............ f/ozwnaml
9 Give two reasons why carbon (IV) oxide is used at a fire extinguisher. (2 marks)
= (2 -~ f\w ...... arx..Y. ST S ——

-------------------------------------------------

............................................

10.  To determine the purity of limestone Form 3 students heated 12.5g of limestone in a
crucible until they obtained a constant mass. If the volume of COz obtained was 2400.
Calculate the purity of the lim ﬁ.stom, (C=12,0=16, Ca = 40, Mgv = 24@dm?). (3 marks)

Callk 4 bl Cabuy +CD, <)

Mcﬂe.r % Co. 24[;;61) = 0L v

/\//J]ﬂr % Callds = O-f
pMag CaCl;= O/X/ >4,

= 07
é éb“oi -————* ; >< /00 Q 0;
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11.  Determine the relative atomic mass of Neon whose isotopic composition is as follows.

209092 (90.92%) 2iNe (0.26%) iiNe (8.82%) (3 marks)
"W = (eox o.72) + 81 X 0-26) HA1X 9.22) 7
/00
= 18/9. 4+ 5 6+ TEDF ]
/2D

= 20-(77 1/1

12.  Drawa well-labelled diagram to show how dry hydrogen can be prepared and collected
in the laboratory. (3 marks)

& bil el 1 b brdria
i

S

13.  Give two characteristics of a temporary chemical change. State one example of such
reaction. (2 marks)

---------------------------------------------------------------------------------------------

14. (a) Whatis dru Eabuse? (1 mark)

(b) Nameonec only ed non- med1c1nal drug. (1 mark)
Lrzavs, / ran ,)?

------------------------------------------------------------------------------------------
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16.

(c)  Adoctor prescribed drugs to a patient Amoxil 2x3. How should the patient
take the drug? (1 mark)

.........................................................................................

.......................................................................................................................................................

The figure below shows a flame obtained from a Bunsen burner.

T
S
R
(a) Namehe type of flame. (1 mark)
............. = L 0 ALt e
(b) A matchstick head placed at region R will not igr{j¢e, Explain. (1 mark) l//
R seqri . bt gasa doeth, g, b VE
LIS A regrac . Gn2en] gadee. 00, LMo Y oo W P
c Name region S. (1 mark)
(c) g -

reen— bl Zoul...... Lo e eee e eet e ses e srsens

............................................

The set-up below was used to separate a certain mixture.

\ | /\/ Ice cold water

»»»»»»»»»»»»»»»»»»»»
> >

R R S BN A HANN . .
;‘;‘SS;I;O;(Q;Q >y D‘O lodine and sodium

f:bjzj:}%:»:p»:;?@ :QE%E chloride mixture

»»»»»»»»»»»»»»»»»»»

(a) Identify the method of separation shown, _

2 Tem T gp(/éﬁmaﬁ.—a: ‘/{

- e
o= : :
...... I e I DO~ Ao rd bbbl schnrs 1. i SN SRR e S

ey
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)] 1(1011731 substzmchB/ (1 mark)

()  Giveany other substance when mixed with sodium chloride can be separated as
above? (1 mark)

Aleh [l ol Lol )] Bei.....

17. Element A with atomic number 12 and B with atomic number 9.

(a)  To which chemical family is; (2 marks)
A -

......... }Kﬂﬁm%w/ﬁ/\/)dz-&‘/;
B - (L/Z /cg;ﬂnf 1/1!

-----------------------------------------------------------------------------

(b)  Write the equatign for the reaction between A and B. (1 mark)
4@‘/‘5&(@*“’9 ..... Agz,@‘/l' ......................................

18. When chlorine gas is passed over heated iron metal, 26.7g of the product is formed.
Calculate the mass of iron which reacted. (Fe =56, Cl = 35.5) (3 marks)

2Fe g 13Cl2g —>2Fe Clz j
o8 == 267 = e 4
Miec 9 fe = 0643 3

v
Mas — p.JEr2x 67
L Fe =, 320097 M

19.  Study the diagram below and answer the questions that follow.

H2Sg) —» %
ﬁ \ Beaker
H,S0,
/
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(a) ive the observation made in the beaker. M (1 mark)
................. Selle) . S0l g e Tl T | e

(b)  Write an equation for the reaction that took place in the beaker. (1 mark)

2 Q0. Xl.....
(c) Give one reason why the gas is directed into the beaker using the inverted funnel

as above? (1 mark)
— . 2 : <
Lo g d suclig  bauc By G Yl
R g
20. (a)  State Graham’slawo iffusiﬁ. o™ recctian (1 mark)

(b) It{akes 50 econds for 200cm3 of carbon (IV) oxide to diffuse through a plug.
How long will it take 300cm3 of nitrogen (IV) oxide to diffuse through the same
plug under the same conditions of temperature and pressure.
(C=12,N=14,0=16

3 e g o , \/Zmarks)

Rty B i 4 gex B
‘A IQZDCLXXHD.:’7UEQZC. L
,————————2%

—) . 4 .ea;ub‘ef“/

t\loz, = ‘&CD; X MM/‘ML - 74 6?5 1

M;UNQ /kfzxf/’ ary Sfo. rolfd -

21. (a) , State Gay Lussac's law. (1 mark)

Whes.. gaser...conch. Mo o 0 o Bhumes That Lo &

Cinpf 2. g (BLL. 0, M2 anelfel | Qoo .00 Yo i W) O (1 /
....... L q¢c Prm akcé N Lurl f'e"Lflﬁﬂuh tﬂﬁr’\%-
(f)a?” Calculat/e the \jol'ume o? dir reT(;ui/e}d to comphéy react with 100cm—"jof hydrogen

gas. (Assume that oxygen is 20% by volume of air). (3 marks)

Wy T Gy —22. 00 4
2 ) <
s ,’.",'_E 0111‘4 \/%L /00014.4

/Do

20 - Do’ | [00XED ]

joof, —7? <D 2/ 4
= 250wm” V| e
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22.  Name the following organic substances. (3 marks)

Br '
v
@ CHs CH o cH, Q‘Bmwo—zﬂfiﬁ/éu%’%‘
Chy 2K 3= frmo- 2wty ] bufense
(b) CH;CHCHCH,CHy ﬂ% —2'&“’“/' ...................

12,2 ] V]
() CHs CH,COOCH,CH,CHy L5 ///Q’V 4‘40675'2 ......... ..

23. (a) Defineisomers._

Cowy

..............................................................

..... < Cé?w@(/(ﬁ"%“["
(b) ]ﬁrawthe possiblestru’c;turalisomerofC4H8. i y (2 marks)H
[ ( [ { i
“w ol =C—C—CH f-C-C=cC- CI,’/% i 5{ = C— &M
/ [ [ //7,. [ f F$ 4 i ] t‘//
f Hf tr # 4 bW

Y/ Sy NS | e~ /
/ 2X/ betaeve A ’M@%ﬂa‘/ﬁ;ﬁ]) -/-ex

24. (a)  Give the chemical narﬁr rust. (1 ma’

............ Hodbeated. .t ox e, ]

-----------------------------------------------------------------------------------------------------------------------------

(b) Nameone condition.whijch speeds up rusting. . R mark)
s e ) o Fo] Sl cocctiits 1 ]

(c) Many iron products are coated with a layer of zinc to protect it from rusting.
State two ways in which zinc prevents rusting of iron. (1 mark)

sssssmssanns -l.llllllllllllIlllllI.llll..llllll.lllllllu-III.l--lllllllllllllllllIlllllllllllllIllllllllll'-l.-l.q sesmabasesssssiaeiiansRaREIEREEER NS

------------------------------------------------------------------------------------------------------------------------------------------------------
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25.  Study the diagram below for the preparation of oxygen in the laboratory.

Hydrogen peroxide

Oxygen

Solid W

(a) Name solidW. ... M‘f (m:z_(:e(ll/joxrtéa %f’jjw[a(l mark)

(b)  Write the equatlx;} fOéthe reactlon (1 mark)
-
s Y S e S Oty T 20 K
(c) What property of oxygen makes it to be gollected as above? (1 mark)

5&7477/ ...C'o/u 6/,& dn. WA @//A@Z% nof NﬂL

26.  Starting with Barium Oxide describe how Barium chlorlde can be prepared in the Lab.

. A—A’O( X teL( ﬂq@ o /-fC/( ouwd. _(79",, / (2 marks)
B/ 6 oo 2xet Dﬂqzaa W/W

— fet Ko ﬁ/fmt@ te catwalin. A

— A’[[&w ()é /D Coo (- J

— v d’dﬁ f7L"~ “'“" WV&V v

I He 07,f édw%, ﬁ/thw //’f"‘/-f‘

« —

m
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